Instructional Packet #22

*You will not submit anything for this packet*

Adding and Subtracting Rational Expressions with
Like Denominators -

WATCH THE INSTRUCTIONAL VIDEO that | have
created for this topic. It will guide you through
examples that you will need for packet #23 and

packet #24.
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Rational Expressions with Like Denominators
Find each sum or difference. Express in simplest form,
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Algebra 2 (POLCK*d" # 25 Name

Rational Expression Review

Simplify each expression.
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Algebra 2

Rational Expressions Assessment

Simplify each expression,
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Date

To determine whether a value is a solution of an equation, substitute the value into the equation
and simplify.

Example 1 Determine whether (a) x = 1 or (b} x = ~2 is a solution of 5x — 1 = 4,

a. Sx—1=-2x+6 b, Sx—1l=-2+6
5()— 1 2 =2+ 6 Substitute, 5(—2) — 1 2 ~A~2)+ 6 Substitute.
4=4 Simplify. 1110 X Simplify.
B So,x=1isasolation - I So,x = —2is not a solution.

To solve a linear equation, isolate the variable.

Example 2 Solve each equation. Check your solution.

a. dx—3 =13 b. Ay —B=y+6
4x—3+3=13+3 Add 3. Zy—16=y+6 Distributive Property
4r = 16 Simplify. 2y-y—16=y—y+6 Subtracy
%{5 - "lf“ Divide by 4. y—16=6 Simplify,
y—16+16=6+16 Add 16.
x=4 Simplify.
y=

22 Simplify.

Practice -E\[EN Pro blemg Dr\\:j, Check your answers at BigldeasMath.com.

Determine whether (a) x = —1 or (b} x = 3 is a solution of the equation.
L 5x+7=2 2. —dx+B= —4 3. 2x—1=3x—4

i

Solve the equation, Check your solution.

4 x—-9=24 5. n+14=0 6. —16 = 4y

7. —3t1=—15 8. 81 =46~x 9. 4r+5=1

10, x+5=1lx 11. 9 —3) =45 12, 6=7k+8—k

13, 6n+3=—dn+7 14. 2c+5=3(c — 8) 15, 18m +3(2m + 8) =0
16. X 5=3 17. 28— 18 L%,

19, 8r+6) + @r—1)=14 20. 3y —3=9 - 21 gx— 5 =ax + o

22. MONEY You have a total of $3.25 in change made up of 25 pennies, 6 nickels, 2 dimes, and
x quarters. How many quarters do you have?

Copyright ® Big [deas Learning, LLC Topic 6.2
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An equation that has two or more variables is called a %@3@ . To rewrite a literal equation,

solve for one variable in terms of the other variable(s).

Example 1 Solve each literal equation for y.

a. Ix+Sy=45 b 2ip+5=7
3Ix -~ 3x4+5r=45-3x Subtract 3x from each side. y2x+ 5 =7 Distributive Property
Sy=45-3x  Simpliy Wx+3) T Divide each side by 2 + 5.
5 45~ 3 2x + 5 2x + 5
Y B § 4 . .
LA ) 7 o
5 5 Divide each side by 5 y=r Simplify.
y=98- gJc Simplify. 7
3 P The rewritten literal equation is y = P
I The rewritten literal equationisy = 9 — %x.
[ Py = m
}1
2x sy = 3ty, ¥ Multiply each side by .
Zyy=3 4y Simplify.
xy—y=3+y—y Subtract y from each side.
2y —v=3 Simplify.
¥2x—1)=3 Distributive Property
y(2x — 1) 3 . .
e — ‘1_
S 7 =] Divide each side by 2x
=_3 P
Y=g Simplify.
P The rewritten literal equation is y = ng’_ T
Practice Check your answers at BigldeasMath.com.
Solve the literal equation for y.
1. x+3y=9 2, 4x—2y=16 _ 3, x+Tv=5
4 2x+3y=6 5, 5x— 4y =10 6 x—2v=8
7. 2xy - 6 =8x 8. dx =0y +uxy 9 4z=3y— 8
2+ 7 S5+v

—=x 12, 3x =

10. 2xy = 3z + 4y 1.

Copyright @ Big Ideas Learning, LLC Topic 6.6
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Name Date

Addition Property of Inequality Subtraction Property of inequality
When you add the same number to each side of an When you subttact the same number from each
inequality, the inequality remains true, ‘side of an inequality, the inequality remains true.
Multiplication and Division Properties Multiplication and Division Properties
of Inequality (Case 1) of Inequality (Case 2)

‘When you multiply or divide each side of an inequality When you multiply or divide each side of an inequality by
by the same positive number, the inequality remains true,  the same negative number, the direction of the inequality
symbol must be reversed for the inequality to remain true.

To solve an inequality, isolate the variable.

Example 1 Solve each inequality. Graph the solution.

a x+1> 3 b. —3x5 9
—1 =1 Subtract1 from each side. 3x, 9 Divide each sice by —3.
> 2 Simplify. -3 7 -3 Reverse the inequality symbol,

£2 -3 Simpiify.
k The solution is x> 2.

Use an epen circle bacause x = 2 is not a solution. ¥

a

—3is a solution, |

o 1 3 4 5 B — : : . —
-4 -3 2 0 1
¢ —2529y+2 4. _%+5> 10
-2 =2 Sublract from eachside. -6 —6 Subtract 6 from each side.
—2729 Simplify.
y 9y Pl —% >4 Simphfy.
5 2 ?y Divide each side by 9. L Caye ae(-2) Multiply each side by —2.
—32y Simplify. 2 Reverse the inequality symbol.

z<—8  Sirplify.

p The solution is z < —8,

Use an open circle becaise

z = —8 is not a solution. &

”
Practice Check your ansiwvers at BigldeasMath.com,
Solve the inequality. Graph the solution.

1 x+2%7 2. y—5<-8 3. _LB:-—]_
25 ., .
4, ?56 5. —2g+ 1215 6. 3z—4d<—1

Copyright @ Big Ideas Learning, LLC Topic 6.7
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Example 1 Write each sentence as an inequality. Graph each inequality.

a. A number x is greater than -8 and less than er equal to 4.
b. A nember yis at most 0 or at least 2.

Graph the intersection of the
graphs of x > —8 and x < 4.

P Aninegualityisy < O0ory > 2.

ety ettt Grizph the union of the
-2-1 0 1 2 3 4 5 6 graphs of y < Qandy > 2.

You can solve a compound inequality by solving two inequalities separately. When a compound inequality with “and”
1s written as a single inequality, yon can solve the inequality by performing the same operation on each expression,

Example 2 Solve —4 <x — 2 < 3. Graph the solution,

Separate the compound inequality into two inequalities, then solve.

—4<x—2 and x—2«< 3 Write two inequalities.
+2 42 +2 +2  Add 2 o each side.
—2<x and x<5 Simplify,
I The solutionis —2 < x < 5, T e S A W e -
-3-2-1 0 1 2 2 4 5
r -
Practice Check your answers at BigldeasMath.com.

Write the sentence as an inequality. Graph the inequality.
1. A sunber d is more than 0 and less than 10. '

2. A number # is fewer than —6 or no less than —3.

solve the inequality. Graph the solution.
.5<m+d<10 4, ~3<2k~5<7

5. e+ 35 ~5S0rc—-8»—1 6. 2p+1<—Tor3~2p<—1

Copyright © Big Ideas Learning, LLC _ Topic 6.8
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d" e gt =g +tr (ab)m i (am)ir a
Add exponents. Find the pewer of each factor. Multiply exponents.

o La#0 E)”’ b #0

Subtract exponents, Find the power of the niumerator
and the power of the demominator.

Example 1 Evaluate (a) 4.9° and (b} (~3)~%.
1

a. 49" =1 Definition of zero exponent b, (—3) 4= = Definition of negative exponent

=L Evaluate power.

81

Example 2 Simplify each expression. Write your answer using only positive exponents,

9
a2t =2"=128 b.5—6=59"5:53m125
5
. .
|:.E=12}'D.::T=12ﬂxTi d. xﬁ'x2=xﬁ+z=xs“5=x3
x77 ¥ r
e. (P=2=2 £ (6mn =6 e -’ = 21600
4 G, ~2
i (;:)4 A . B XY 106 SR N 3 2
3 3¢ 8l 5x3y 5 y3
r -
Practice E\( EN Dmb\g MS o) Check your answers at BigldeasMath.com.
Evaluate the expression.
_ &0
1. (=9 2, gl 3, 47 a =2
3-2
Simplify the expression. ertiu?‘:e your answer using only positive expong?nts.
9 -6 _Av e y=S X
5. 27.2 6. 10 7. y+y 8. =
-2
9, —5x7 o x4 25 10. ‘%—6 1. @H™? 12, (8xy)?
S
B xS 3
13, 3% « (—20)° 14, (=5min Iy 15, = 16,
7787 s
3 a\-12 ~2. .
17. (E) 18, (92‘-) 19. 2 20, -2
2 Sy why3 6572

21. METRIC SYSTEM There are 10° micrometers in a meter and 10° meters in 2 kilometer.
How many micrometers are there in 10% kilometers?
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